(1 1) Yk @acz R (&)

(ks 1 od, 25BN : %)

£ ES i
JiEnE | JE e L F S | KRB IR ¥ M oo P /E M Wk 244 FEE R AR | TRk 254 S ERR ARG | 2 @R
M/ M,/ ot %

1 [FRE-1 JURHL | TAREHXASENT 6 % 144 2, 780, 000 2,880,000 3.6

2 |[FRE-2 FRA | FRER=ET9%E4 2, 070, 000 2,130, 000 2.9

3 | FH—4 JURKL | TAREXBIT ZTH 1 0% 44 1,910, 000 1, 960, 000 2.6

4 |#k—6 HORH  |[HERARAKRIETH36 7% 1 1, 550, 000 1, 640, 000 5.8
[AAA5—13—1]

5 |FfH—3 JURHL | TREXZFIT 1 2% 10 1, 580, 000 1, 630, 000 3.2

6 |[#—3 HURKL (X ERA =T H4%F 2 1 1, 300, 000 1, 330, 000 2.3
[PERfAi 3 —15—81]

7 |4 FRHS  |MEEHELNTH48 7% 1, 250, 000 1, 300, 000 4. 0|
[BfFlb4—26—181]

8 |#—5 FRHS  |BREELLETHE274% 1, 170, 000 1, 190, 000 1.7
[BfFIL7—13—5]

9 [#-—8 HRH  |EREwR—TH701%6 1 1, 090, 000 1, 110, 000 1.8
[Edil1—9—5]

10 [H—7 WAl XU =T H 4% 2 3 1, 080, 000 1, 100, 000 1.9
[HpfAi 3 —4— 91

10 -1 FURKL  [EARAMERI =S TH 1 6% 1 4 1, 080, 000 1, 100, 000 1.9
[therpi3 —16—61
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1 [Pks5-13 HURES | T H 2% 1 94+ 19, 700, 000 20, 400, 000 3.6
FeRE2 —6 — 71

2 |[FRE5-1 FURHL | TRERALON=T B 2 & - 20, 100, 000 -
[romN3—3—11J

3 | FH5—24 [HEHE | TREXKFT—TH1%S3 18, 600, 000 19, 200, 000 3.2
TRFEIT1—2—4]

4 |5 —-14 HORKS | KRR T H 4% 1 34 - 13, 200, 000 -
F4RE6 —8 — 3

5 |#fE5—4 HRHS | FERESE—TH18%&?2 12, 000, 000 12, 200, 000 1.7
[HaEE1—18—21]

6 |58 BRSO X EE T H 4% 546 10, 800, 000 11, 100, 000 2.8
[ntE2—4—151

7 |HiES — 2 WS | FEXETE =T H8 0 2% 64+ 10, 400, 000 10, 700, 000 2.9
[#w3—18—51

8 |hks5—6 BRSO AARAEEIT—TH 8% 2 10, 300, 000 10, 600, 000 2.9
FAARKEEIT1 —5—3]

9 |¥E5—-10 W | BrE s =T B 5% 24t 9, 980, 000 10, 300, 000 3.2
[#3—5—4]

10 |#5—14 FRH  |[BEREHFLRETR25% 8, 340, 000 8, 620, 000 3.4
FRfFIL5—1—27]
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1 [#9—1 Wl |EXMEE=TH 1E 2 74 - 810, 000 -
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FEfmEs3—1—111J
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